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QUESTION 1

What are two benefits of Infrastructure as a Service? 

A. There is no need to architect the deployment, it is dons by the cloud 

B. Deployments are highly scalable and can rapidly grow and shrink with demand 

C. It is a way to run legacy hardware and operating systems securely 

D. Organizations do not face the capital costs associated with hardware purchase 

E. The cloud provider installs operating system patches automatically 

Correct Answer: BD 

 

QUESTION 2

What two files types can be used to import a data dictionary in IBM Cloud Private for Data? 

A. YAML 

B. CSV 

C. JSON 

D. DOC 

E. XML 

Correct Answer: BE 

 

QUESTION 3

What are two services or capabilities for developing and deploying microservices in IBM Cloud? 

A. Polyglot programming and persistent data store 

B. Tools for testing and rapid deployment 

C. Services to analyze and visualize data 

D. Graphical tools for modeling 

E. Backup and monitoring tools 

Correct Answer: AB 

 

QUESTION 4
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In relation to Block Storage, why is I OPS an important consideration? 

A. It can have an impact on application performance 

B. If the slices are too small, an application will not have enough storage 

C. The higher the flow, the faster the disk spins which can cause data corruption 

D. A system must be designed so that it stores less data than this total 

Correct Answer: A 

 

QUESTION 5

IBM Analytics Engine is based on what open source package? 

A. Hortonworks Data Science 

B. Hortonworks Data Platform 

C. Hortonworks Predictive Analytics 

D. Hortonworks for Global Data Management 

Correct Answer: B 
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